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GENERAL MATHEMATICS (Arts)
Q.Paper : 1 (Objective Type ) 023-1" Annual-(9™ Class)
(Time Allowed : 20 Minutes) (hruf I35 ) 2220 1 =5

(Maximum Marks : 15) PAPER CODE = 5262 15 AF
y L.'/b?.;/ur‘-ufu;//béZIJ&VLJIV/:(‘,Q(&M-@Y{Z:) DsC+«B « Ao&lﬁj/lgﬁdl}’/z ey
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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.

D C B A Questions / = Uiy R
<3 % 1 1-1
1 = S ~
332% 33% 1% 3% e Uy
3 of percentage is :
iS5 s s ey e s b Sertdaibrcid|?
Consequent Antecedent Meaiis Extremes In a proportion a:b::c:d,bandcare called :
£2/15000 | 492000 | £-5,25000 | &-/5000 e U3 U £ £2200,000 |3
Rs.15000 Rs.2000 Rs.25000 Rs.5000 Zakat on the amount of Rs.200,000 is :
o VL ASGF S S et Cig s | 4
25% 10% 5% 2.5% On a crop produced on artificial -8
resources, ushr is deducted at the rate of :
dk’ J/;ﬁ’ )'J}fjl ujj)'.":l : wi“‘é’%dlﬂfw”y"!fﬁ&‘f;” ?
The person or entity whose insurance is
Lessee Insurer Insured Insurance | peing done is called :
S " Fe " e S S IS Sa E |
- ! The percentage of profit / mark up
Principal Interest Time "Rate charged is called :
RS i % S Kry bos gt 7
( )-“S‘-‘-‘,.LH{' ()“5*-‘-‘,.19 g u‘@&/’m{/j o 'u*l‘ ’w‘i-vv~lu®w‘ﬁ§;u®k’/y.;{,)
= . Tk Taxes of the form of duties, motor vehicle
Income tax Property tax Indirect tax e e called, =
e . ( Y o~ B b o i 3
SpAd | oS | osdea | osik | SEMbe Bl LERS oSt
- ) The'tax charged on all the taxable
Excise duty Income tax Direct tax Sales tax income’is called :
2/1{1 2% 2 e \/\/5 =9 )
e b 37U 635 151245 10
145 545 335 45 ‘ _
AM between 2v/Sand 64/5 is:
Ut | ok | et | prect | em/ AUB=BUAL L B Ay | !
Complement | De-morgan’s | Commutative | Associative | For any two sets A and B, AU B = BUA is
of two sets law law law called :
cAS=27 A= U= S| 12
{1,2,3,4} (1} ¢ 15,280 | 2E A4l {1,20,3, ¥
fU={1,2,3,4},A= {4} then A" =7:
5 Lgt'ﬂy(;f ¥ 4.5‘/%&(! y=cahls I3
=] € 0 1 Graph of equation in the form of y = ¢
have y co-ordinate :
6 0 _3 ) y y=7 I x=12 uﬁ’y=3x/' 14
If y = 3x,then for x =2 we have y=? :
. ) XjsXgs———%, s —:xl+x2+x3+———+xn 15
Losidst L/;f(,.;/‘ lzxal(}l/ Lok QVW/ X n
Weighted Geometric Arithmetic - e iy Ny e R
mean mean mean BRI I X="1"72"23 L is called :
X, Xy, X, n
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GENERAL MATHEMATICS (Arts) 1) Fudz
Paper : I (Essay Type) 023-1" Annual-(9™ Class) Gz 1 ey
Time Allowed : 2.10 hours (7;/ 1/35) 2210 =5

Maximum Marks : 60 (PART I Jse> ) c AF

12 2. Write short answers to any SIX (6) questions : : 2 etz A L ey (6){445! 2

() Ifa:b=2:3,find the ratio of 6a:2b “ZEpF 6a:2b Fra:b=2:3S1 (@)
(i1) Define inverse proportion. oy S —t (i)

e d s St L20:50::8: x (il
(iii) Find the value of x in the proportion 20:50:: 8 : x

g5 111,00,000248 /1 (iv)
(iv) Calculate zakat on gold amounting to Rs. 111 ,00,000.

(v) Define ushr. EaJEE W)
-gr}" /“’ Ny 6,00,000 (3{ LJ‘E JJ}L?DA;LV célu(};ﬁ (v

(vi) Calculate ushr on a rice crop produced by natural resources amounting to Rs.6,00,000

LB T w50t s6850 S 26590 ik LT (vid)
(vii) If a television is purchased for Rs.6590 and sold for Rs.6850, find the profit percentage.

(viii) Define cost price. EFured (viid)
W SIS L/ 1540 =g ed G esjed (i0)
(ix) Find SP, when CP = Rs.1540 , Loss = 5%
12 3. Write short answers to any SIX (6) questions ;  :24 bz & L =iy (6)4‘?,:;.(3:( 3
(1) Define saving account. s L ()
20 112.4088 =09 L1115 w2 s gd s3], 5,00,000 (i)
(i1) Convert 5,00,000 Pak rupees into Euro if 1 Euro = Rs. 112.4088.

(ii1) Define life insurance. é - /7 e u’ AL (i)
(iv) Define income tax. e /U/c:,u&uf/l Gv)

P OSIE  oL 16% et 213480023l (V)

(v) Find the 16% sales tax on computer if the price of a computer is Rs.34800.

(vD) Simplify : (a3b2)/ x(a}/ b)/ 2 (vi)
(vi) Simplify : - 2720 22 (vid)

(viii) Simplify and write your answer in scientific notation : 2 % ff p el bl2alZE A7 (viii)
2.61x 4 x10°
10°
(ix) Solve : Cog S + £og 20 + Log 24 + fog 25 — Log 60 &S (0
12 4. Write short answers to any SIX (6) questions : ol o uw A2 L ey (6){:_(5:( 4
-é(}’"k/;d‘,ul/uﬁ X +x+l o x2 -x+1 (1)
(1) Find AM. between x?—x+1 and x2 +x+1
(i) Find5"termofaG.P.4,-12,36—  -&pbduy 5§ 4,-12,36 — Lbd> (D
EptredSa In 24 1a37616 wa St (i)
(iii) Ifthe A.M. between a and 16 is 24, find the Value ofa.

" (Z15.)
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s BxA sl AxB InB={1,3} sA={2,3,4}.]1 Gv) _4
4, Gv) HA={23,4}andB={1,3},thenfind AxB and Bx A4
Epl ANC InC={3,4,5,7} nA={1,47.8}]1 (V)
(V) f A={1,4,7,8}and C={3,4,5,7 },thenfind AnC
(vi). Represent point F (~ 3, 7)) on graph paper. -’c{;&ﬂ@:@dl/ SF(-3,7) & i

(vi1) Define frequency. —I‘.{ Iy W (vii)
(viii) Define histogram. -é .y S & ¥ (viil)

Sk 065,4,5,4,3,4,2,6 wrlay (%)
(ix) For the median of data set 6,2,4,3,4,5,4,5

(PART 11 (‘»J? )

Note : Attempt any THREE questions . -é".&:«&tﬁﬁ:«mrd c_é’f O
4 W LU K5I Lo STV rd Ninl S UIR4S 8 5S98 (D) 5

5. (a) 8 persons can do ajob in 24 days. If four more persons joined them, how
much-time they will take to complete the same job?

4 LujJJ’;ﬁdb‘?f:‘glgu(&ﬂ{:u 15,00,000 Alofbglé“{‘.‘i_gf?ug/fl (._, )
(b) If adeceased left a property of worth Rs.15,00,000, _é(}”ozw/ &
work out the property, if he left behind a widow.

ST b5, } ke 01470 SEONL LSS Vokrei (9) 6
4 6. (a) Find the cost price;if a fan is sold _’cfﬁ/ ()L’” aFod
for Rs.1470 to get a profit-of %th of its cost price.
p LEuuie s 8034 L Giva Ao Lot 6% L L2 (&)

4 ?&)J}%}/ZL.‘@_QCJI(;
(b) ABL gained Rs.8034 on its loan at'6% compound mark up in 2 years.
What amount did it lend?
4 u:}u-‘a%u 3,10,000 J}I’L)JZ,SO,OOO %?ﬂl,(}xruﬂs\ﬁdﬁ'gfgfux‘ﬁ» M) 7

7. (a) The total taxable income -Z=, (}1"‘ u@‘fibkﬁ Pl fd/ 4.5% 4(3,4 i1

of two persons is Rs.2,50,000 and Rs.3,10,000 respectively. Work out
the income tax for each of them @ 4.5%.

4 (b) Using logarithm to evaluate : Ef.-"/‘_)" Z_nL/JWIK{‘; £y ()
0.9876 x (16.42)*
(4.567)’1/3
4 bl n Jh e =5 Z—j:%ﬁ ) 8
8. (a) Find the nth term of a G.P. If —Zi = g— and a, =-;4—
4 B={1,3,6,7.8} AJA={2,3,36,9} (U={1,2,3,4,5,6789}.1 (&)

(AUB)S = A° N B° S =kin
(b) IfU=1{1,2,3,4,5,6,7,8,9},A={2,3,6,9}and B={1,3,6,7,8}
then verify (AU B)" = 4° " B¢

4 9. (a) Sketch the graph of : y= —g-——g— : ét:.ﬁf/ M) 9
4 (b) Find the standard deviation for the values : éfi/()"'.il/" IS Loty (&)

1,2,3,4,6,8,11
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GENERAL MATHEMATICS (Arts)
Q.Paper : I (Objective Type ) 023-1* Annual-(9™ Class)
(Time Allowed : 20 Minutes) (_;;/ bz )

(Maximum Marks : 15) PAPER CODE = 5267 15 A5
L\_«Le:/ua,uiu;//bi/’:,;é'_lzédiy/;/?(éﬁ}!ﬁ-ujé’cr; DsCe¢ B« Ao@fﬁ;ﬁ/gﬁdlrﬁ RO
-Kx/r‘?bﬁvlﬁo/fiuﬁ:«u‘JL/{‘/_‘,«({QL[/’/U;//I”{L.JC_vg_’q(:;/."c,cj}}.//l.i;//bw&'UV
Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question. '

D C B A Questions / =iy £r
GWE | S s 55 B etee Qe £ S L [
I“g‘g ﬁg}ce Insurance Insurer Insured ?;1};?1:31%]5 ?;1 Zﬁ?e%er:takmg the act of

g . . o 2
Loty L‘f/UL})‘ s J,:':LT .%L&{M#bd)r“c’/}{— y (Jw‘f(
Abscissa Straight line Origin Ordinate The perpendicular distance of a point from
» y-axis is called :
D P ABI12, 16,21, 27 | 3
32 31 34 30 ; )
The next term of 12, 16, 21,27 is -
Lest 3~ s ! il :gd&fagd;ﬁub/:uf;!/g‘/“gf( 4
Geometric & The middle value of data arranged in
mean Median Mean Mode numerical order is called :
e 8 1 ] Y 70% |
100 7 10 Fraction form of 70% is :
. @ L % NEN g 6
u@bb’g u@u‘)o'/’ Uﬂi:ljs‘ﬁ u‘&:{\‘. )‘};b .U.?‘J/uﬂf = U:Lf/d/u =5 Lk’/)"./:zl)
. ) -~ Taxes of the form of duties, motor vehicle
Indirect tax Direct tax Income tax Property(tax taxes are called :
AUB ANB ACUBS | A°ABC (A4 B)° =7 J
oy fed < Y W L oS ped > oSl = 8
wF el edlnges APl sl Loss is there when : :ﬁ‘grxuuﬁ
SP <CP SP = MP SP>CP SP =CP
If'y = 3x,then for x =2 we have y=? :
w w 0
Vs »i Lo JUi :ujqu’:@ a3 !
Exponent Radicand Radical Base In /3 , 3 is called :
L e USSP SPES s Psds [ 1 |
3% 10% 2.5% 20% On a crop produced on natural resources 4
Ushr is deducted at the rate of :
ey oy N, Sue Ut el bz 0L | 12
: N The amount which is paid by the bank on
Mark-up Premium Bonus Profit the deposits is called -
; G 13
2 I T Vs Ji : 54 ) 5 5
Radical An integer Exponent Base In 47, 4 s called : u?qf&-( /403-'4
T . s 3 7 14
= S : g M =
20% 20 35 350 70 in the terms §.u"f 520
of percentage is :
+9 6 +36 +3 ! 4‘-‘1;’1/) Qﬁuyuéu 1253 |15
G.M. between —3 and— 12 is :
177-023-I-(Objective Type)- 10000 (5267)
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GENERAL MATHEMATICS (Arts) Wiy & v
Paper : I (Essay Type) 023-1* Annual-(9™ Class) Gl 1 @ oy
Time Allowed : 2.10 hours | (.;3/ ) &210 ;=5
Maxintum Marks : 60 60 :
T e (PART-1Ji») i
12 2. Write short answers to any SIX (6) questions : : o ez A7 L =iy (6){;&( 2

-n:/u.f,/tf’»’l.guugvlﬁ -aﬁ;:‘ﬁgfydf% €))

' . 21 s :
(i) Express fraction & as percentage. Give answer correct to one decimal place

(i) Define inverse proportion. -y Su™ —t (i)
(i1i) What is meant by rate of zakat? Sl et j"d/ 35 (id)
(iv) Define loss. .Write its formula. -é%./” Uy B8 ¢_54 /7 Sl (iv)

S Ine s, 11,10,000 = § LSt (V)
(v) Calculate Zakat on gold amounting to Rs.11,10,000. . ) )
ZE e P 1,490,000 cASST S TS S b Brsd /1 (v
(vi) Calculate Ushr on a tice:crop amounting to Rs 490,000 produced by artificial resources.
St o S n$iE S $edie_ss 15,00,000 J,iafupézrlLf <1 (vid)
(viil) If a deceased left a property of worth Rs.15,00,000, work out the property, if he left
behind a widow.
M S sl &3s 1540 =pt ol BEE ek s ped (vidd)
(viil) Find SP, when CP = Rs.1540 and Loss = 5%
w12 = L 00 858 =il LB el n bt ()
(ix) Find the marked price, when SP = Rs.858 , Discount = 12%
12 3. Write short answers to any SIX (6) questions(: ol Az A L iy (6){;6:( 3

(i) What is saving account? Sebalf i L (D
L Llond 1710951 « £3,9400 Ut o f E T2 ABECEL Sosle 2l 3%%,L 00 (i)
(i1) How much time a sum of Rs.9400 will take to become Rs.10,951, if the same is
invested @ 3% % p.a.?
(iii) What is income tax? S | s H'/' (iii)

oS B g S50 A 16% et 014,00,000 Tt de Sl Gv)
(iv) The annual income of a flat is Rs.14,00,000. Find the tax payable @ 16%.

(V) Define personal income. Sl e a o5 (V)

(vi) Simplify : V27 x /81 2L (vi)
1 .

(vii) Simplify : 5x3 x 2x3 28 A (vid)

A pE Dz S S e g 1K 6400 St (viiD)

(vili) The radius of earth is 6400 km. Convert it into meters and write the solution in scientific notation.

(ix) Solve : Log (x+3)=2 &S
12 4. Write short answers to any SIX (6) questions : @ o ez A L ey (6){443] 4
. w 1 :
@ If a, =3Ln then find g, and a, -gr:l"’ a, sl ay ¥x a, =3—n-/! )

(o)
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St a5 $4,-12,36, ddF (D) 4
4. (i) Find the 5™ term of G.P 4, - 12, 36, ---
(1i1) Define geometric mean. -éuy 5 JAAL} ~ (1ii)
e (ANB)NC 96 C=1{3,4,57} sIB=1{4,6,8,9}  A={1,47,8}.]1 (v)
Gv) I A={1,4,7,8},B={4,6,89}andC={3,4,5,7} then find (4~ B)~C
(v) State associative property of intersection of sets. -Zf;f uy.,ﬁwwu‘f d’ GLuxr (V)
(v1) Define overlapping sets. ‘o nfer > (vi)
LS e safB(=6,-3)A(5,2) s (viD)
(vii) Draw a line with the help of two points A (5,2 ), B (-6 ,—3 ) on graph.
(vii1) Define histogram. :é.,y Vd 1> u[ ¥ (viii)
(ix) Forthe data 6,2, 4, 3, 4, 5, 4, 5, find the mode. -épb”uw 6,2,4,3,4,5,4,5 s (ix)
(PART I (2247 ) .,
Note : Attempt any THREE questions . .-é:«[.liﬁ:«wr'cf c;.df O
4 e spe 32 E tUD A050Tness 6750 wESuniz 15 Lo N1 (D) 5

5. (a) The price of 15 suits is Rs.6750. How many such suits can be purchased by
an mount of Rs4050 ?

4 - J334-9140,0000 2805y B et F U S b ST At S5 10 (L)

e IF 3435000 =F G5 sl

(b) Calculate the amount of zakat on 10 tola gold and 40 tola silver. If the

rate of gold is Rs.40,000 pertola and the rate of silver is Rs.5000 per tola.
Ciun S F ol 4415 (Sl /L,{d_?.u 7,50,000 bt sidend ST (D) .6
4 521305 iy Lo/ 1 e ok [t

6. (a) If Ali, Daniyal and Abdullah earned 15% profit against an investment

0f' Rs.7,50,000. Find the profit of each if theit)shares are in ratio 2 : 3: 5.

e LU S o18% I SAAS L L Y fige12,50,000 (o)

B e

4 (b)  Find out the compound mark up on Rs.2,50,000 for‘one year @ 14%
compounded mark up annually.
4 b oS e U S 16% g 1nes40,000 <3820 ALS (D) 7
7. (a) Ifthe price of Bl S E KSR

an air-conditioner is Rs.40,000, then workout the amount of sales tax on it at
the rate of 16%. Also calculate the price of an air conditioner with sales tax.

4 (b) Solve with the help of logarithm : co&Zf c_u(ffg £ ()
. 62.14x0.§2x0.015 )
4 ) /ﬁf;}’m 3 ,}/Jf’{'d/fgpb"fJQﬂS /;'ﬁ/a/_.ﬁnu(,ufd‘fgﬂ (%) .8

8. (@) Find the general term and the 18" term of an A.P., whose first term is 3
and the common difference is 2.

4 C={4,6810}sB={3,6912}-A={2,46}]1 ()
AV(BUC) =(AUB)UC SZEertin
() If A={2,4,6},B={3,6,9,12} and C=1{4,6,8,10) then
verify that AU(BUC)=(4UB)UC

4 9. (a) Draw the graph of : y=4x+1 :Z;f/..il/ M) 9
4 (b) Find the standard deviation : 2,3,6,8, 11 : é;()"”h)l/‘. IS (&)
177-023-1-(Essay Type)-40000




